Imports System.Threading





Public Class Form1


    Dim rxdata(2) As Byte   'data from SX


    Dim txdata(2) As Byte   'data to SX





    Private Sub Form1_Load(ByVal sender As Object, ByVal e As System.EventArgs) Handles Me.Load


        CheckForIllegalCrossThreadCalls = False 'this is a test program so we will ignore cross thread errors


        SerialPort1.BaudRate = 38400   'set the baud here to whatever 


        SerialPort1.Open() 'open the port on Form1 load


    End Sub





    Private Sub SerialPort1_DataReceived(ByVal sender As Object, ByVal e As System.IO.Ports.SerialDataReceivedEventArgs) Handles SerialPort1.DataReceived


        Dim indata As String    'string that will hold the header





        indata = SerialPort1.ReadLine


        If indata = "TX" Then   'if the header is TX read incoming else ignore


            Thread.Sleep(2) 'allow time for incoming to reach the buffer


            SerialPort1.Read(rxdata, 0, 2)





            TextBox1.Text = rxdata(0)   'display incoming in text boxes


            TextBox2.Text = rxdata(1)


            SerialPort1.ReadExisting() 'clear the serial buffer





            SerialPort1.Write(txdata, 0, 2)    'transmit the trackbar values


            SerialPort1.ReadExisting() 'clear the serial buffer





        End If





    End Sub








    Private Sub TrackBar1_Scroll(ByVal sender As System.Object, ByVal e As System.EventArgs) Handles TrackBar1.Scroll





        txdata(0) = TrackBar1.Value





    End Sub








    Private Sub TrackBar2_Scroll(ByVal sender As System.Object, ByVal e As System.EventArgs) Handles TrackBar2.Scroll





        txdata(1) = TrackBar2.Value





    End Sub


End Class











DEVICE SX28,OSCHS3,TURBO,STACKX,OPTIONX


FREQ 50_000_000








BAUD CON "N38400"





TX VAR RB.1


RX VAR RB.0


VAL_1 VAR BYTE


VAL_2 VAR BYTE


VAL_3 VAR BYTE


VAL_4 VAR BYE





PROGRAM MAIN








MAIN:





T_OUT:


SEROUT TX,BAUD,"T"


SEROUT TX,BAUD,"X"


SEROUT TX,BAUD,10





SEROUT TX,BAUD,VAL_1


SEROUT TX,BAUD,VAL_2





SERIN RX,BAUD,VAL_3,100,T_OUT


SERIN RX,BAUD,VAL_4,100,T_OUT





PAUSE 30





VAL_1=VAL_3


VAL_2=VAL_4





GOTO MAIN


